Problem 5.1	n _A hg	halng
AB	1	1
ABA	۲ ا	2
ABAAB	3 2	3/2
ABABABA	53	5-13
$\frac{\Lambda u flation}{N_A^{(k+1)}} = N_A^{(k)} + N_B^{(k)}$	ng ⁽⁴⁺¹⁾ = h ₄ ^{(k})
$\frac{N_A^{(h+1)}}{N_B^{(h+1)}} = 1 + \frac{N_B^{(h)}}{N_A^{(h)}}$		
$\lim_{k \to \infty} (h \to \infty) := \frac{N_A(h)}{N_B(h)} -$	$\rightarrow \times$	
$\times = \left[+ \frac{1}{X} \right] \times \left[+ \frac{1}{X} \right]$	-1 = 0 X =	$\frac{1}{2} \pm \overline{5/4}$
$X = \frac{1}{2} \left(1 + \sqrt{5} \right) \qquad golden$	mean	

Physics 481: Condensed Matter Physics - Homework Solutions 5

Problem 5.2 a) $E = 2N \sum_{i=1}^{\infty} (-1)^{i} \frac{q^{2}}{iR} + 2N \frac{A}{R^{h}}$ $= 2N \left\{ -\frac{q^2}{R} l_{n} 2 + \frac{A}{R^{n}} \right\}$ $\frac{\partial E}{\partial P} = 2N \left\{ \frac{4}{p_1} l_m 2 - h \frac{4}{p_2} l_m^2 \right\} = 0$ $R_{o}^{h-1} = \frac{hA}{g^{2}h^{2}} \qquad R_{o} = \left(\frac{hA}{g^{2}h^{2}}\right)^{\frac{1}{h-1}}$ 5) $\overline{E}_{o} = 2N \left\{ -q^{2} \ln 2 \left(\frac{q^{2} \ln 2}{\ln A} \right)^{\frac{1}{n-1}} + A \left(\frac{q^{2} \ln 2}{\ln A} \right)^{\frac{n}{n-1}} \right\}$ =-ZN h Z q $\left\{ \frac{1}{R_0} - \frac{1}{h} \frac{1}{R_0} \right\}$ $\overline{F}_{o} = -2NL2 q^{2} \frac{1}{R_{o}} \left(1 - \frac{1}{h} \right)$ c) $E = E(i\lambda) + \frac{1}{2} (\delta R)^{2} \left(\frac{\partial^{2} E}{\partial R^{1}} \right)_{R}$ $\frac{\partial E}{\partial P} = 2N \left\{ -\frac{2q^2}{P^3} \ln 2 + \frac{N(h\pi)A}{R^{h+2}} \right\}$ $\frac{\partial^2 E}{\partial n^2} = 2N \left\{ -\frac{2q^2 en^2}{2s^3} + \frac{(h+i)q^2 en^2}{2s^3} \right\}$ $= \frac{2NLl q^{L}}{R^{3}} (n-l)$

D

$$\Delta E = \frac{1}{2} \delta^2 \frac{2N \ln 2 t^2}{R_0} (n-1)$$

$$\frac{\rho_{12}\xi\ell_{m} - \frac{4.3}{4.3}}{\kappa} = \sum_{k=1}^{N} \kappa \theta_{k}^{2}/k_{0}T$$

$$Nor m \kappa Liter \int_{-\infty}^{\infty} e^{-\kappa \theta_{k}^{2}/k_{0}T} = \left(2\pi \frac{k_{1}T}{2\kappa} - (\kappa)k_{0}T\right)$$

$$P = \left(\frac{\kappa}{Tk_{0}T}\right)^{M/2} e^{-\frac{2}{2}\pi \frac{\kappa}{K}} \kappa \theta_{k}^{2}/k_{0}T$$

$$J = \left(\frac{\kappa}{Tk_{0}T}\right)^{M/2} e^{-\frac{2}{2}\pi \frac{\kappa}{K}} \kappa \theta_{k}^{2}/k_{0}T$$

$$J = \left(2\pi \frac{\kappa}{2}\frac{\kappa}{K}\right)^{M} + \frac{\kappa}{K} \left(\theta_{k} + \dots + \ell_{M}\left(\theta_{k} + \dots + \theta_{M}\right)\right)$$

$$\kappa_{M} = \alpha \left[\cos \theta_{k} + \cos \left(\theta_{k} + \theta_{k}\right) + \dots + \ell_{M}\left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \left(\theta_{k} + \dots + \theta_{M}\right)\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{k} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\kappa_{M} = \alpha \left[\sin \theta_{M} + \dots + \sin \theta_{M}\right]$$

$$\langle e^{\lambda \sum_{i=1}^{j} \theta_{i} + \lambda \sum_{i'=1}^{k} \theta_{i'}} \rangle = e^{-j \frac{k_{3}}{\kappa}} e^{-(k-j) \frac{k_{3}}{4\kappa}} (j < k)$$
$$= e^{-k \frac{k_{3}}{\kappa}} e^{-(j-k) \frac{k_{3}}{4\kappa}} (u < j)$$

$$= e^{-k} e^{-\frac{j}{2}\theta_{\ell}} - \frac{k}{2} \frac{k}{\ell} \theta_{\ell'} = e^{-\frac{j}{2}-k} \frac{k_{0}}{4k}$$

$$\langle x_N^2 \rangle = a^2 \frac{1}{2} \sum_{j < k} \left(2e^{-j \frac{k_0 \bar{i}}{\kappa} - (k-j) \frac{k_0 \bar{i}}{4\kappa}} + 2e^{-(k-j) \frac{k_0 \bar{i}}{4\kappa}} \right)$$

$$+ a^2 \frac{1}{4} \sum_j \left(2e^{-j \frac{k_0 \bar{i}}{9}} + 2 \right)$$

Carry out some over k-j, extend to intuity

$$\sum_{K=1}^{\infty} e^{-x} \frac{k_0 \overline{1}}{4\kappa} = \frac{1}{1-e^{-\frac{k_0 \overline{1}}{4\kappa}}} -1 = \frac{e^{-\frac{k_0 \overline{1}}{4\kappa}}}{1-e^{-\frac{k_0 \overline{1}}{4\kappa}}}$$

$$\langle x_N^2 \rangle = a^2 \sum_{j} \left(e^{-j} \frac{k_0 \overline{1}}{\kappa} + 1 \right) \frac{e^{-\frac{k_0 \overline{1}}{4\kappa}}}{1-e^{-\frac{k_0 \overline{1}}{4\kappa}}}$$

$$\langle x_{N}^{2} \rangle = Na^{2} \left(\frac{1}{2} + \frac{e^{-k_{0}T/4\kappa}}{1 - e^{-k_{0}T/4\kappa}} \right)$$

$$\langle x_{p}^{2} \rangle = \frac{N}{2} a^{2} \left(\frac{1 + e^{-k_{0}T/4\kappa}}{1 - e^{-k_{0}T/4\kappa}} \right) \qquad \left[\frac{\lambda^{2}}{\alpha^{2}} = \frac{1}{2} \frac{1 + e^{-k_{0}T/4\kappa}}{1 - e^{-k_{0}T/4\kappa}} \right]$$